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Answer two of the following questions

Q1. Write down three example codes, each with the following properties:
(i) non distinct.
(ii) distinct but not instantaneous.
(iii) instantaneous.

)2.

Design two codes using Shannon algorithm to encode a memoryless source

and calculate its efficiency. Confirm that the codes will have the same efficiency.

A sample of the source output is: I\ . = O

ABRACADABRA .
123056 %890y %\,%_,\O
23 a.Encode the following messages using the mentioned method: D — = —+\\ o
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(ii) BBABABBABCABABDBAD  (LZ77)

Q4 A sketch of two binary symmetric channels connected in cascade is given:

Ai)  Extract the transition Matrix of the first channel.
owc(ii)  Compute H(X). w
@ii) At the output of the first channel, find: p(Y=1{X=0) , p(Y=1,X=0), p(Y=1)
£iv) At the output of the second channel, find: p(Z=0]X=0) , p(Z=1,X=1), p(Z=1)
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